UNIT - Sheep Production Name:

Lesson 1: Sheep Enterprises Date:

EVALUATION
Circle the letter that corresponds to the best answer.

1.  How many sheep were in the United States in 2000?

a. 7.2 million
b. 720 million
C. 7.2 billion
d. 720 billion

correct answer is a
2. Arange producer:

registers in breed associations.

tends to produce sheep as a second enterprise.
is located in the Corn Belt region.

normally raises 1,000+ sheep.

correct answer is d

apow

3. Which of the following is an advantage to sheep production?

High labor cost

Low initial investment

Low wool prices

Low consumer consumption rate
correct answer is b

an o

4. Which of the following products is a primary product of sheep?

a. Medicine

b.  Wool hat

c. Legoflamb

d. Marshmallows

correct answer is ¢



Match the statement on the left with the enterprise type on the right. Write the
letter in the space provided.

__ 5. Flocks typically contain 1,000 or more A. Purebred
sheep

correct answer is ¢

B. Farm flock
___6. Most common enterprise that is generally a
secondary enterprise for producers C. Range

correct answer is b

__ 7. Raised for carcass and overall eye appeal D. Club lamb

correct answer is d

__ 8. Specialize in providing good breeding stock E. Commercial lamb

to sell to producers
correct answer is a



